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21. How was the polygon transformed? (6-4.6)

Translated 4 units right
Reflected over the Y-axis
Translated 6 units right
Reflected over the X-axis
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22. V}/hat a’:)e the coordinates of the reflected polygon?
6-4.

a. A(8,-2),B(7,-5),C(3,5),D (4,-2) (=1,5)
b. A(8,2),B(7,5),C(3,5),D(42) !
c. A(S8, -2),B(7,-5),C(-3,-5),D (-4,-2)
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23. How was the polygon transformed? (b-4.6)

Translated 9 units down
Reflected over the X-axis
Translated 8 units down
Reflected over the Y-axis
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24. Whét#are the coordinates of the reflected polygon?
(6-4.¢)
a. A(3,-2),B(5,-6),C(7,-2)
b. A(3,2),B(5,6),C(7,2) L i
c. A(3,2),B(5,6),C(-7,2) N S
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25. How was the polygon transformed? ((-4-6) Y 4

Translated 4 units down
Reflected over the X-axis
Translated 5 units down
Reflected over the Y-axis
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